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mol  =    = C × Vdm3

���	
�	��
���
�
������	���  : 1, 000 cm3 = 1 dm3 = 1 L

	�
�'�����ก��-���

����ก�  ���  ��
�����ก���!"#�	"  (	��%����&ก���	'�  1  �����	'�  2  �ก��#
 Be(OH)2)
�/�
  LiOH, NaOH, KOH, Ca(OH)2, Ba(OH)2

ก���ก�  ���  ก�"�����ก���!"#�	"  �/�
  HCl, HBr, HI, H2SO4, HNO3, HClO4

�()*�ก��-���

1. 	
��
ก��-���  ��������
��  (Arrhenius)

ก��  ���  
�����1&1��
23��1#�4&��ก�����#   ����  H+ H3O
+

���  ���  
�����1&1��
23��1#�4&��ก�����#  OH−

2. 	
��
ก��-���  ������� �  !�"�
  (Bronsted-Lowry)

ก��  ���  
�������#5����
  (H+)

���  ���  
��������5����
  (H+)

3. 	
��
ก��-���  !�"���  (Lewis)

ก��  ���  
���������'�  ���  ���  
�������#�'�  e− e−
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1. 4�ก�>?@��ก����ก��ก�"-��
<�%�������
��
  �1&����

��"  1����

��ก17�	�"4�"��A
��
�7ก���
ก. CO3

2− HPO4
2− Cl− NH4

+

<. Na+ Ca(OH)2 NO3
− NH3

�. OH− HCO3
− SO4

2− NH3

%. KOH H2PO4
− H3O

+ SO3
2−

2. 
���"���!�
�3  ���!	�
�	��B�2��
#������A
ก�"!"#
ก. <. �. %.H2O HC2O4

− HS− NO3
−
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3. <#��"���!���
���1&/
�"�

23�  	�
	������A
ก��

ก. NH4
+ CO3

2− CH3COO
−

<. H2PO4
− HCO3

− NO3
−

�. NH4
+ H2PO4

− HCO3
−

%. HS− H2PO4
− CH3COO

−

pH  ����
�,0,
�

�1&  pH = − log[H+] pOH = − log[OH−]

pH + pOH = 14

,"��-.

log 2 = 0.30 , log 3 = 0.47 ≈ 0.5

log 4 = 0.60 , log 5 = 0.7

[H+][OH−] = 10−14 = Kw = Ka ⋅ Kb

ก
�	1
��2ก
�'�ก�-�ก��-���

1. ก���ก� - ����ก�  ��  ����  !"#�1� �����4��C�4�ก
'��[H+] [OH−]

2. ก������ - �������  ��  ����  5"��/#
'��"�%
�3[H+] [OH−]

ก������ �������

��ก���   ��ก��� > 5%    ��ก���   ��ก��� > 5%≤ 5% ≤ 5%

����   ����   ����  ����  C
K

≥ 1, 000
C
K

< 1, 000
C
K

≥ 1, 000
C
K

< 1, 000

     [H+] = Ka ⋅ C [H+] = Ka ⋅ (C − [H+]) [OH−] = Kb ⋅ C [OH−] = Kb ⋅ (C − [OH−])

�#��1&ก����ก���  �#��1&ก����ก���  = [H+]
C

× 100 = [OH−]
C

× 100
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ก�/
  1 ก���4��4�%
��1&1��

C1V1  =  C2V2

ก�/
  2 ก��I
	
��1&1��/
�"�"���ก�
���	����	�<#	<#
���%ก�


C1V1 + C2V2  =  C��	V��	

���������
�+
����
,-�

1. 
23��'
�
	�  1&1����'�  Ca(OH)2 5.10 × 10−2 g/100 cm3

4%�����	�<#	<#
<�%  �

��1&1��
�3��A
�����"OH−

(Ca = 40, O = 16, H = 1)
ก. <.0.138 mol/dm3 8.95 × 10−2 mol/dm3

�. %.1.38 × 10−2 mol/dm3 6.89 × 10−3 mol/dm3

H  O2

C  , V1 1 C  , V2 2

C  , V1 1 C  , V2 2
C      , V��	 ��	. . .
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2. 
��1&1���
<#��"	�  pH  
'%
7"
ก. HCl 0.1 mol/dm3

<. NaOH 0.4 g/100 cm3

�. HCl 0.1 mol/dm3 50 cm3 + NaCl 0.4 g/100 cm3 50 cm3

%. NH3 1 mol/dm3 , Kb = 1.8 × 10−5
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3. 
2�
��1&1��  �<#	<#
  27%  5"�	�1  ���	�
��
�
  HNO3 1.4 g/cm3

���	���  	�I
	ก��
��1&1��ก�"  �<#	<#
  25 cm3 HNO3 4 mol/dm3

���	���  4�ก
�3
���	
23�4
���	�����A
  
��1&1��
�350 cm3 500 cm3

4&	����	�<#	<#
<�%!P5"��
��	!���
  �1&!P"��ก!Q"�!���
�����"
(	�15	�1ก71  HNO3  =  63)
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4. 
��1&1��ก�"  HA  �<#	<#
  ��ก���  17%  B#�  HA  ��ก���  12%0.1 mol/dm3

4%�����	�<#	<#
<�%  HA  �
�
���5	1���

5. ��A
��
�ก�  �	���
2�  <�%  �<#	<#
  Ba(OH)2 100 cm3 Ba(OH)2 1.0 mol/dm3

I
	
23�1%!���ก  4%�����	�<#	<#
<�%  ��A
  400 cm3 OH− mol/dm3
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6. 4%������������#��1&ก����ก���<�%!���
<�%
��1&1��  CH3COOH

�<#	<#
  0.005  M  �1&  0.02  M  ก2��
"��#  <�%  ����ก��  Ka CH3COOH 1.8 × 10−5
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7. �
ก�������	
��1&1��  pH  13  <#��"2-ก .�3

ก. 
2�
��1&1��  KOH  �<#	<#
  42�
�
  0.01 mol/dm3 10 cm3

�1#��4��4�%"#��
23�ก1��
4
	����	���  100 cm3

<. 
2�
��1&1��  KOH  �<#	<#
  42�
�
  0.01 mol/dm3 1 cm3

�1#��4��4�%"#��
23�ก1��
4
	����	���  100 cm3

�. /��%  NaOH  �
�ก  4  g  1&1��
23�4
	����	���  100 cm3

%. /��%  NaOH  �
�ก  0.4  g  1&1��
23�ก1��
4
	����	���  100 cm3

9



8. 
��1&1��  X  �1&  Y  	����  pH  ����ก��  2  �1&  4  ��	12�"��
4%�������
��
<�%���	�<#	<#
<�%  �

��1&1��  X  �����  YOH−

9. 
��1&1��/
�"�
[�%  	����	�<#	<#
<�%  ��A
  10  ����<�%  500 cm3 H+ OH−


��1&1��
�34&	�  pH  �����"
ก. 7.5 <. 6.5 �. 4.5 %. 3.5
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10. 
2�
��1&1��ก�"�&Q���ก  42�
�
  I
	ก��
��1&1��ก�"�&Q���ก5 mol/dm3 5 dm3

Q[�%	�  pH  =  X  42�
�
  4�ก
�3
���	
23�4
	����	�����A
  4&!"#
��1&1��6 dm3 14 dm3

��	�	����	�<#	<#
  4%�����  X  2 mol/dm3

(ก2��
"  Ka  <�%  CH3COOH  =  1.8 10-5)×

11. ก�"  HA  	����  ���	�<#	<#
�#��1&  30  5"�	�1������	����	���
2�	�Ka = 10−8

1&1��
23�!"#
��1&1��  4&	�  pH  =  4  4%��	�15	�1ก71<�%ก�"
�320 cm3 100 cm3
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�ก,��

1. �ก1������ก�"4�กก�"�ก�ก����
�ก�  ก��1&1��<�%�ก1����&�\�
�3  pH  =  7  (�ก1��ก1�%)
2. �ก1������ก�"4�กก�"�ก�ก����
���
  ก��1&1��<�%�ก1����&�\�
�3  pH < 7  (�ก1��ก�")

45.�- ���
�"ก6�ก������  �
ก���2�
�C
3. �ก1������ก�"4�กก�"���
ก����
�ก�  ก��1&1��<�%�ก1����&�\�
�3  pH > 7  (�ก1����
)

45.�- ���
�"ก6��������  �
ก���2�
�C
4. �ก1������ก�"4�กก�"���
ก����
���


B#� 
��1&1���ก1��4&��A
ก1�%Ka = Kb


��1&1���ก1��4&��A
ก�"Ka > Kb


��1&1���ก1��4&��A
��
Ka < Kb

���������
�+
����
,-�

1. �ก1���
<#��"1&1��
23��1#��
"%
	�������	��A
ก�"-��
���%4�ก�ก1�����
^
ก. <.CH3COONa NH4Cl

�. %.NaNO2 C6H5COOK
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2. 
��1&1��  �<#	<#
  �ก�"!P5"�1�Q�
  1%  4%��  �1&  pHCN− 0.2 mol/dm3 [OH−]

3. 
��1&1��  	�  pH  ��&	�C�����"Na2SO3 0.1 mol/dm3

(ก2��
"  �1&  <�%  ����ก��  �1&  ��	12�"��)Ka
1

Ka2 H2SO3 10−2 10−7
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�
�,0,
��-3�3��4

��_�_������%��ก��A
  2  /
�"  �����_�_���ก�"ก����_�_�����
  
1. ��_�_���ก�"  (pH < 7)  ���  ��_�_�������ก�"4�กก�"���
ก���ก1��<�%ก�"���

2. ��_�_�����
  (pH > 7)  ���  ��_�_�������ก�"4�ก��
���
ก���ก1��<�%��
���



'��ก���2�
�C��_�_���

    ��_�_���ก�"            ��_�_�����


[H+] = Ka[ ]
[ ] [OH−] =

Kb[ ]
[ ]

���������
�+
����
,-�

1. � �̀ก��������!�
�3
a. �1&  0.50 mol/dm3 CH3COOH 50 cm3 0.50 mol/dm3 NaOH 25 cm3

b. �1&  0.50 mol/dm3 Na2HPO4 50 cm3 0.50 mol/dm3 KH2PO4 25 cm3

c. �1&  0.50 mol/dm3 NH4Cl 50 cm3 0.50 mol/dm3 HCl 25 cm3

d. �1&  0.50 mol/dm3 CH3COOH 50 cm3 0.50 mol/dm3 CH3COONa 25 cm3


��1&1���
<#��"��A

��1&1����_�_���
ก. a, b, c  �1&  d <. b, c  �1&  d
�. b  �1&  d %. d  ����
�3


ก�"���

�ก1��<�%ก�"���


��
���

�ก1��<�%��
���
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2. �

��1&1����_�_�����&ก��"#��ก�"��
5Q��ก  �1&5Q�"��	(C6H5COOH) 12.2 g

��
5Q���  �

��1&1��    4%��  pH  <�%
��1&1��(C6H5COONa) 7.2 g 250 cm3

��_�_���
�3�1&B#����	
23��

��1&1����_�_���
�3��A
  4%��  pH  <�%
��1&1��500 cm3

��_�_����4��4�%
�3
(ก2��
"  <�%  10-5)Ka C6H5COOH = 6.6×
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ก
�	1
��256�ก����
ก��-���

1. ก��-���  	7�+8�ก�����ก6�9��


B#��2�� �̀ก������1#�  
����3%�#
�	"��3%�'�  pH  4&��"4�ก�ก1������ก�"<[3



'���2�
�C  
����3%�#
����2�� �̀ก�����ก�
��"�

a ⋅ molA = b ⋅ molB

�	���  a, b  ��
42�
�
  �
ก�"����42�
�
  �
��
H+ OH−

2. ก��-���  	7�+8�ก�����ก6�:;�9��

2.1) B#��2�� �̀ก������1#��ก���1��  pH  ��"4�ก����ก������1��
2.2) B#��2�� �̀ก������1#����
��1��  pH  ��"4�ก��_�_���

���������
�+
����
,-�

1. I
	��d%  ��A
��1"ก�"�
ก�&���&�����  B#�
2�	�  0.10 g  �2���A

��1&1��Mg(OH)2

�1#�!�����"#�� ���ก`����/# HCl !� 4%������
��1"ก�"
�3 HCl 0.20 mol/dm3 10 cm3

1 g  	�  ��A

��
I
	��'�ก��ก��	Mg(OH)2
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2. 
2�  �
�ก  1.48  g  I
	ก��
��1&1��  HCl  ���	���  Ca(OH)2 0.02 mol/dm3 1 dm3

�ก�"� �̀ก�����"�%
	ก��  (
	ก����%!	�"71)Ca(OH)2 + HCl → CaCl2 + H2O

�	����`�ก�����
�3

7"1%  
��1&1��4&	�  pH  �����"  (Ca = 40, H = 1, O = 16)
ก. 1.7 <. 7.0 �. 12.3 %. 13.7

3. 4%�2�
�C���  pH  ���!"#4�กก��I
	 ก�� �1#��2���#
��1&1��HCl 0.2 mol NH3 0.6 mol

	����	���  ก2��
"  <�%  ����ก��  2 dm3 Kb NH3 10−5
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4. 4&���	
��1&1��  NaOH  �<#	<#
  1%!������"�

��1&1��  0.1 mol/dm3 HNO3

�<#	<#
  42�
�
  �������#!"#
��1&1�����	�  pH  =  3  ��"�0.1 mol/dm3 25 cm3

5. �	���I
	
��1&1�� �<#	<#
 42�
�
 ก��
��1&1�� NaOHH2SO4 0.5 mol/dm3 30 cm3

�<#	<#
  42�
�
  4�ก
�3
���	
23�1%!���ก  4%��1 mol/dm3 20 cm3 200 cm3

1) 
��1&1�����!"#	����  pH  �����"
2) 4%�����	�<#	<#
<�%  �1�%�ก�"� �̀ก�����
	�'�C�[Na+] , [SO4

2−] , [H+]
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